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Rotacdo de inércia
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cos(e) sin(e)
—-sin(e) cos(e)

Leis de transformacao Matriz de rotacéo:

x'::x-cos(9)+-y-sin(9)

y'::y-cos(@)—x-sin(e)
2 2 -
Ix'::fy' dAa Iy'::fx' dAa Ix'y ‘—I(X'Y)dA

2 2
dIx':=y' -dA dIy':=x' -dA dix'y':=x'-y'-dA

de'::(y-cos(@)—x-sin(e»z-dA

de'::(y-cos(9)+-x-sin(e»z-dA

de'y'::(y-cos(@)—x-sin(e»-(y-cos(9)+—x-sin(9»-dA




2

dIix' ::((y-cos(e)) —2-y-cos(6)-x-sin(@)—i—(x-sin(@))z)-dA

dIy' ::((y~cos(6))2+2-y-cos(6)-x-sin(@)—i—(x-sin(e))z)-dA

dIx'y' ::(y-cos(e))z+(x-sin(6))2

Sabendo que:

cos (x)2 = -(l +cos (2 x))

N -

-(l—cos(Z-x))

sin (x)2 =

N -

sin(2-x)::2-sin(x)-cos(x)

Substituindo e integrando novamente, teremos:
2 2

Ix':= Ix-cos(e) —l—Iy-sin(e) —2-Ixy-sin(6)-cos(6)
2 2

Iy':= Ix-sin(e) —l—Iy-cos(e) +2-Ixy-sin(6)-cos(6)

Ix'y':= Ix-sin(e)-cos (6)— Iy-sin(e)-cos (6)+ Ixy-(cos (6)2 - sin(e)z)



